
3ULQWHG�GXEHQ����������DW������
&]HFK�6XSHUOHDJXH
02',),('����2YHUDOO�0DWFK�5HVXOWV

3RLQWV� &RPSHWLWRU 5HJ&DW 7DJ ,&6&OV

� ��������������� �� +HQHV��=GHQHN &=(
� ������������� �� +RULQHN��0LORV &=(
� ������������� �� 6HU\��-LUL &=(
� ������������� �� +HODQ��9LW &=(
� ������������� �� 1RYDN��/XERU &=(
� ������������� �� 0LNXOD��-DNXE &=(
� ������������� ��� .XEDF��9LWH]VODY &=(
� ������������� � +HJODV��-DNXE &=(
� ������������� �� 3O]DN��-LUL &=(
�� ������������� ��� +RODQ��5DGHN &=(
�� ������������� ��� +HQHV�VHQ���=GHQHN &=(6
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3ULQWHG�GXEHQ����������DW������
&]HFK�6XSHUOHDJXH
23(1����2YHUDOO�0DWFK�5HVXOWV

3RLQWV� &RPSHWLWRU 5HJ&DW 7DJ ,&6&OV

� ��������������� ��� .DPHQLFHN��0DUWLQ &=(
� ������������� ��� +DYOLFHN��0LURVODY &=(
� ������������� ��� 3LMDFHN��3HWU &=(
� ������������� �� 9RON��)UDQ] $876
� ������������� �� 9RON��$OH[DQGHU $87
� ������������� �� .UDXVKRIHU��*DEULHOH $87/
� ������������� � 6XVWU��0LORV &=(6
� ������������� ��� .DPHQLFHN��0LURVODY &=(6
� ������������� �� .UDXVKRIHU��5RODQG $87
�� ������������� ��� +RUHMVL��/HQND &=(/
�� ������������� �� 6XVWURYD��.DWHULQD &=(/
�� ������������� �� 6FKDOOHUEDXHU��+DUDOG $87
�� ������������� �� +HLPHUGLQJHU��6WHIIHQ *(56
�� ������������� �� +LHEOHU��:ROIUDP $87
�� ������������� �� &LVODN��0LORVODY 69.6
�� ������������� �� 5DWDM��-DQ &=(
�� ������������� �� 0LWWHUPDLHU��5RODQG $87
�� ������������� �� 6FKZDE��$QGUHDV $876
�� ������������� ��� $QJHUHU��.ODXV *(5
�� ������������� � 6HER��3HWU &=(
�� ������������� �� 6HUD��0DUWLQD &=(/
�� ������������� ��� .UHX]HU��.XUW $876
�� ������������� ��� 0H\HU��+DUDOG $87
�� ������������� ��� &HKHOVN\��3HWU &=(
�� ������������� �� 3ROLYND��9ODGLPLU &=(6
�� ������������� ��� %DUXFKD��5XGROI *(56
�� ������������� �� %HQHV��6WDQLVODY &=(
�� ������������� �� 6YHWLWVFK��)ULHGULFK $876
�� ������������� ��� +DYOLFHN��=GHQHN &=(
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3ULQWHG�GXEHQ����������DW������
&]HFK�6XSHUOHDJXH
352'8&7,21����2YHUDOO�0DWFK�5HVXOWV

3RLQWV� &RPSHWLWRU 5HJ&DW 7DJ ,&6&OV

� �������������� �� =DSOHWDO��0LURVODY &=(
� ������������� �� 9LQGXVND��9DFODY &=(
� ������������� ��� 9\VQ\��0DULDQ 69.
� ������������� �� 1DJ\��(UQHVW 69.
� ������������� ��� +UQFLDULN��$QGUHM 69.-
� ������������� ��� 0XOOHU��0LORV &=(
� ������������� ��� )HGRU��0DULDQ 69.
� ������������� �� 6WU\F��0LFKDHO &=(
� ������������� � 3DOND��-DQ 69.
�� ������������� ��� 6FLUDQND��0DUWLQ 69.
�� ������������� ��� %DUDN��5RPDQ &=(
�� ������������� �� .OHNQHU��3DYHO &=(
�� ������������� ��� 3HQRY��$QWRQ 69.
�� ������������� �� 1DJ\�MXQ���(UQHVW 69.
�� ������������� ��� *XVFKLQ��0LFKDLO 586
�� ������������� �� .DSUDO��9RMWHFK &=(
�� ������������� ��� 3XOLFDU��-DURVODY &=(
�� ������������� �� &KUDVWQ\��0DUWLQ &=(
�� ������������� ��� 6HG\��5RPDQ &=(
�� ������������� �� 0DUFLQHN��3DYHO &=(
�� ������������� �� 3DYOLN��-DQ 69.
�� ������������� ��� +XWWHUHU��$QGUHDV $87
�� ������������� �� 5HLWHU��*HUDOG $87
�� ������������� �� .UDWRFKYLO��0LORV &=(
�� ������������� ��� +RV��,YDQ 69.
�� ������������� �� 5DVRYLF��%RVNR $87
�� ������������� ��� -DQLN��/XNDV &=(
�� ������������� �� =LHEDUW��)ULHGULFK $87
�� ������������� �� 7XUNRYD��(YD &=(/
�� ������������� ��� &HUYLQND��/HRV &=(
�� ������������� ��� =DFHN��0LORV &=(
�� ������������� ��� %DWHN��-DURVODY &=(6
�� ������������� ��� .RVWDN��-DQ &=(
�� ������������� ��� 5DWDM��=GHQHN &=(6
�� ������������� ��� 1RYRWQ\��-LUL &=(
�� ������������� ��� %UHLWOHU��&KULVWLDQ $87
�� ������������� ��� 9LJODVN\��$QWRQ 69.
�� ������������� �� 5HKDN��0LFKDHO &=(
�� ������������� ��� 3XOHF��-DQ &=(6
�� ������������� ��� 6PLG��0DUWLQ &=(
�� ������������� ��� 6ORYDFHN��3DYHO &=(
�� ������������� �� +ROG��2WWR $87
�� ������������� �� -LUHV��3DYHO &=(
�� ������������� �� (LSHOGDXHU��:DOWHU $876
�� ������������� ��� 3\FKD��-DURVODY &=(
�� ������������� ��� %RNXYND��7RPDV &=(
�� ������������� �� 0DODFK��0LURVODY &=(6
�� ������������� ��� .RYDULN��0LODQ &=(
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3ULQWHG�GXEHQ����������DW������
&]HFK�6XSHUOHDJXH
352'8&7,21����2YHUDOO�0DWFK�5HVXOWV

3RLQWV� &RPSHWLWRU 5HJ&DW 7DJ ,&6&OV

�� ������������� �� .UDWRFKYLO��-DQ &=(
�� ������������� �� 1DGYRUQLNRYD��3HWUD &=(/
�� ������������� �� +ROHFNR��3HWHU 69.6
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3ULQWHG�GXEHQ����������DW������
&]HFK�6XSHUOHDJXH
5(92/9(5��67$1'$5'�����2YHUDOO�0DWFK�5HVXOWV

3RLQWV� &RPSHWLWRU 5HJ&DW 7DJ ,&6&OV

� �������������� �� -HGOLFND��-LUL &=(
� ������������� �� 1HPHFHN��=GHQHN &=(6
� ������������� �� .RODU��0LODQ &=(
� ������������� ��� +DEUGOH�VW���2WR &=(66
� ������������� �� 3RWXFNRYD��/XGPLOD &=(/
� ������������� ��� %DUWD��2QGUHM &=(
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3ULQWHG�GXEHQ����������DW������
&]HFK�6XSHUOHDJXH
67$1'$5'����2YHUDOO�0DWFK�5HVXOWV

3RLQWV� &RPSHWLWRU 5HJ&DW 7DJ ,&6&OV

� ��������������� ��� /LHKQH��=GHQHN &=(
� ������������� ��� =QDPHQDFHN��3HWU &=(
� ������������� �� /LHKQH��-DQ &=(
� ������������� ��� 3RGOHVDN��5RPDQ &=(
� ������������� �� 6WUDQ]��-XUJHQ $87
� ������������� ��� 3RVW��*RWWIULHG $876
� ������������� �� 9DFODYLN��-DURVODY &=(
� ������������� �� .XEDFHN��3HWU &=(6
� ������������� �� .REODVD��%RKXPLO &=(
�� ������������� �� 6RFKDQ��-LUL &=(
�� ������������� ��� 9RUDEHUJHU��.ODXV $876
�� ������������� �� .REOLF��-DQ &=(
�� ������������� �� +XEQHU��'DYLG &=(
�� ������������� ��� %LUQHU��7KRPDV $87
�� ������������� ��� 9LWHN��/LERU &=(
�� ������������� � 3XVWND��7RPDV &=(
�� ������������� � *URKRO��5DGLP &=(
�� ������������� �� /LHKQH��,UHQD &=(/
�� ������������� ��� 9LGODU��3DYHO &=(
�� ������������� �� 6RXVWDU��,YR &=(
�� ������������� �� 3UDVFKLQJHU��(GJDU $87
�� ������������� ��� 6LFNLQJHU��)UDQ] $87
�� ������������� ��� /LV\��5DGRYDQ &=(
�� ������������� �� 'ORXKD��+HOHQD &=(/
�� ������������� �� 1DGYRUQLN��0LODQ &=(
�� ������������� �� :LON��,YR &=(
�� ������������� ��� 0XKOEDFKHU��+XEHUW $876
�� ������������� ��� .DPOHU��0LFKDHO $87
�� ������������� ��� &HUQ\��9DFODY &=(
�� ������������� �� 1DYUDWLO��$QWRQLQ &=(6
�� ������������� ��� -XUDN��6WHSDQ &=(
�� ������������� ��� %UR]��-LUL &=(
�� ������������� ��� .OHFDQGD��.YLGR &=(
�� ������������� ��� .RSSHQGRUIHU��3HWHU *(5
�� ������������� �� 6WUDVVHU��(OLVDEHWK $87/
�� ������������� �� %HQHVFK��7KRPDV $87
�� ������������� ��� /RYHFN\��7RPDV &=(
�� ������������� ��� %HKDO��-LUL &=(
�� ������������� ��� (FNHU��.DURO 69.
�� ������������� ��� )HLW]LQJHU��3DWULFN $87
�� ������������� �� $LJQHU��0LFKDHO $87
�� ������������� ��� %UGOLN��0DUWLQ &=(
�� ������������� ��� 6WHMVNDO��3HWU &=(66
�� ������������� �� 9ROKHMQ��/DGLVODY &=(
�� ������������� ��� :HVWHUGRUI��3HWUD *(5/
�� ������������� �� .DVDO��=GHQHN &=(6
�� ������������� ��� +XVWDN��=GHQHN &=(
�� ������������� �� .XFKWD��0LURVODY &=(
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3ULQWHG�GXEHQ����������DW������
&]HFK�6XSHUOHDJXH
67$1'$5'����2YHUDOO�0DWFK�5HVXOWV

3RLQWV� &RPSHWLWRU 5HJ&DW 7DJ ,&6&OV

�� ������������� ��� .RKQ��0LURVODY &=(6
�� ������������� ��� 1RFDU��-DQ &=(6
�� ������������� ��� +XVWDN��-DQ &=(
�� ������������� ��� 9OWDYVN\��0LURVODY &=(6
�� ������������� �� 9DVLFHN��'DYLG &=(
�� ������������� ��� 9LOLPRYVN\��-DQ &=(
�� ������������� ��� 5DNXVDQ�VW���-RVHI &=(66
�� ������������� � 6YUFHN��3HWU &=(
�� ������������� ��� 6HGLQD��-LUL &=(
�� ������������� �� (QWO��=GHQHN &=(
�� ������������� ��� +XEQHU��/XERV &=(6
�� ������������� �� *DQJO��)UDQ] $8766
�� ������������� � .QRSS��3DYHO &=(
�� ������������� ��� .HER��9HNRVODY &=(6
�� ������������� ��� 0RUDYHF��-DQ &=(
�� ������������� �� 9RUHFK��3DYHO &=(6
�� ������������� �� $LJQHU��(GHOWUDXG $87/
�� ������������� ��� .XEXVRYD��.DWDULQD 69./
�� ������������� ��� /RYHFN\��(Y]HQ &=(6
�� ������������� ��� .XFKWRYD��-DQD &=(/
�� ������������� ��� 3D]RXUNRYD��(YD &=(/
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